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I Expansion of ruling by Y®nw in re: appointing an executor for orphans
a 1" quoting YRnW — when the orphans reach majority, they may protest the division
i 1" disagrees and disallows protest due to consideration of integrity of 772
ii  challenge: 11 doesn’t consider integrity of 7”2 (9> 72 N2 nn 12 OR) as a mitigating factor
1 support: if the judges misappraised by 1/6 (over or under), sale is null
(a) dissent: 32w — sale is valid, na> 72 n3 nn I"RT
(i) Ruling (279): follows o'non
2 Answer: if they truly erred, we overlook 11 n, in our case (of orphans), there was no error
(a) Challenge: if they didn’t err, what is the reason for the protest?
(b) Answer: they’re protesting the location of their portion (i.e. apportioned properly)
I Status of errant division of estate (am "); treated as purchase (vis-a-vis NRIR)
a  If the error is less than 1/6 — valid division
i Note: only if division isn’t done via a n">v, in which case dispatcher can say 'nmy% X PnaTw Mmpn’
b If the error is more than 1/6 — division invalid
i Note: only if they didn’t agree to use 1"2’s appraisal (as above, per 3"2v)
¢ If the error is exactly 1/6 — division is valid and overage/underage must be repaid
i Note: only if the division is chattel; but ypap isn’t subject to xR
1  Note: this limitation only holds if division was made by “eyeballing”
2 However: if land was measured, division invalid even if less than 1/6 (as per ruling of na1)
I nay 2215 oY
a  Ruling: if someone sent a competent agent to cause damage — the n>w is liable — 172y 1215 YW PR
i Counter: if a mYw performs n%’yn exactly as per agency — Y»n nan Yya
ii  Answer: inferred from nmn (via Ron:Rvn — vv. 1-2)
1 Question: why not infer from n%yn that nay 9275 n'ow v
2 Answer: n9yn and ' mnoow (vv. 3-4) are n¥nd v
(a) Challenge: only true according to n”a (v”a reads Ywa 127 Y3 Y as equating nwYn::naWVNN)
(b) Answer: nyn and nIM NNav (v. 5) are 02N MY
(i) Note: valid according to position that p1non PR TNRI DR2N D12IND NY; if DAY, why not infer?
(if) Answer: Yy 0NV (v. 6) explicitly teaches that only actor is liable
1. question: why not infer from others (n»’»n etc.) as opposed to yin »01NY
2. answer: extra phrase in v. 6 implies application beyond
(iii) question: according to position that 190 PR TnR B'RaN D2IN) 21w — what's purpose of end of v. 6?
1. answer: only if person violates yin »01NW acting alone and fully aware
a. counter: inferred from Xnn/Rin
b.  counter: xann/RN insignificant
iii Question: why does jptn '8nw find dispatcher of murderer liable? (contra nnan who infer from v. 7)
1 Answerl: p%n 02ind 1Y and he doesn’t infer Xinn/Rin
(a) Note: even if 'RnW reasons this way, he’s agree that an agent for n1oR mYarn or R’ MMOX is liable
(i) Reason: 013 ninn 931 — the person who benefits is always the one carrying the liability
2 Answer2: liability is only Dnw »a%3 (D'nan agree but limit to X0 R17T)
3 Answer3: v.7 is an exception and finds dispatcher of murderer liable
(a) Counter: equation to nny »1 290 frees TI7 from liability (since 1R is Ma%n1a 110 as per v. 8)
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